2014 FETFH WEHP T HRRAR (182:5L5H)

fIRE1. 77 70 P aOREFEMEEAOCCEE g(o,y) =2t +yt —1 =00 % & TR f(z,y) = 23 + 23
DEKRAE, Fe/MEz RO X,

fiRE2. RORICL-TEDOLND z,y DR 2 = g(z,y) OMEE, BEEE#ERDD Z L LIk
X,

22 +2y% + 522 — 20y — 29z —4=10

FIRES. o, b BI O RIZEMT, 0<a<b< R&HITET5, #him S = {22 +9y> +22=R%*a<2<b}
EEZD,

(1) S DT R —Fit o2k, £ 8 HIHRETHS = b & ERICHE T,

(2) B¥% g(z,y, 2) = 22 D S EOREZRD X,

FIRE4. 700 PO C = 2’ + 3 — 3oy = 013 2(t) = 25, y(t) = fﬁs WZEV T A—=F—ffF b
%, ClIERy=c lZBELTHHTHY, t — % W&k z by B ANRDD,

(HC O—ECL ={P(t) = (z(t),y(t)); -1 <t < 1} IFHEHRTHDZ &7 E, o, A PH),-1<t<1
TOHEMD z MEZIL y $EATICRDDITE T

(2)C D4 Cy = {P(t) = (2(t),y(t));t € [0,400)} ICL VB ENTKIEE D &5, WESOFHEICLY
D oififEa KD &,

HE R AR & A RN — RIS > TVl LA 7 7 MIZ 00 TlEH Y A, TTHELZEN,



